(2) fIER CT 12 &
O 1HAANER>yZ
< CT R e s o >
<>
aE e
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ 00 %)

A 0 14 50 32 8 1 1 106 6.0
B1 0 39 190 390 322 115 10| 1066| 60.6
B2 1 5 48 102 154 105 18 433 | 24.6
C 0 3 14 37 43 27 4 128 7.3
D 0 2 0 7 9 4 3 25 1.4
E 0 0 0 0 0 0 0 0.0

ZLEH (N) 1 63 302 568 536 252 36| 1758 | 100.0

APt RAEE(N) 1 49 252 536 528 251 35| 1652 | 94.0

HETRESR (%) | 100.0| 78.0| 83.4| 94.4| 98.5| 99.6| 97.2| 94.0

<dtE>
a8 e
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ 00 %)
A 1 8 22 21 8 1 0 61 8.9
B1 0 6 71 124 128 56 7 392 | 57.3
B2 0 1 13 44 48 41 12 159 | 23.2
C 0 2 9 15 29 11 0 66 9.6
D 0 0 0 4 2 0 0 6 0.9
E 0 0 0 0 0 0 0 0 0.0
ZaE (N) 1 17 115 208 215 109 19 684 | 100.0
AT RS (N) 0 9 93 187 207 108 19 623 91.1
AT RAEH (%) 0.0 52.9| 80.9| 89.9| 96.3| 99.1| 100.0| 91.1




<M CT AR R — B>

< B>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ Gt
P 0 14 50 32 8 1 1 106
B IH P21 0 24 166 340 357 175 23 1085
U IR B 0 6 30 63 75 50 10 234
iR 0 0 0 7 11 5 1 24
188 firfi U 0 8 78 190 187 96 13 572
Hh 2 i Ul 0 0 0 5 5 2 1 13
0 it AU 0 0 0 0 0 0 0 0
[EVE R 0 0 2 19 44 46 14 125
sEEhfca AL 0 2 13 136 217 126 14 509
90 77 AR 1 7 26 52 67 41 11 205
RUE SRR 0 1 2 8 14 9 2 36
RIHERRE IS 0 0 5 9 16 8 0 38
Zaet (N) 1 62 372 861 | 1002 559 90 2947
<ZME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ KET
e VAP 1 8 22 21 8 1 0 61
B IH 2L 0 6 71 145 170 87 14 493
U IR 0 1 13 28 48 25 5 120
Fe iR 0 0 1 2 4 2 0 9
B8P il Ul 0 1 2 6 5 1 0 15
Hp S5 it AU 0 0 0 0 0 0 0 0
i it AU 0 0 0 0 0 0 0 0
R 0 0 0 2 4 6 2 14
AR Kb 0 0 1 10 24 39 9 83
90 AT AR 0 2 9 37 44 19 5 116
B SRR 0 0 3 4 5 9 2 23
RIHERR IS 0 0 3 2 7 4 3 19
ZaE (N) 1 18 125 257 319 193 40 953




@ 2B A Ky
<GS CT R e At R >

<>
aE bR
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ 00 %)
A 0 6 12 12 6 1 0 37 5. 4
B1 0 6 48 82 131 106 20 393 | 57.8
B2 0 3 25 51 73 22 183 26.9
C 0 2 5 5 19 19 10 60 8.8
D 0 0 0 4 3 0 7 1.0
E 0 0 0 0 0 0 0 0 0.0
ZEFEH (N) 0 17 74 124 211 202 52 680 | 100.0
BHETREE () 0 11 62 112 205 201 52 643 | 94.6
AP RAHR (%) 0.0| 64.7| 83.8| 90.3| 97.2| 99.5| 100.0| 94.6
<IZME>
a8 bR
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ 00 %)
A 1 0 9 6 3 1 0 20 8. 4
B1 0 0 6 16 46 42 10 120 | 50.2
B2 0 0 3 5 22 31 10 71 29.7
C 0 0 2 3 10 7 2 24| 10.0
D 0 0 0 1 2 4 1.7
E 0 0 0 0 0 0 0 0 0.0
ZiEE (N) 1 0 20 31 82 83 22 239 | 100.0
AT RAEE (N 0 0 11 25 79 82 22 219 91.6
AT RAEH (%) 0.0 0.0 55.0| 80.6| 96.6| 96.3| 100.0| 91.6




<M CT AR R — B>

< B>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ Gt
P 0 6 12 12 6 1 0 37
IG|SLEZ N | 0 6 38 68 133 138 35 418
U IR B 0 3 3 15 26 33 11 91
iR 0 0 0 0 5 3 2 10
188 it U 0 1 17 47 78 66 16 225
Hh 2 i Ul 0 0 0 1 1 2 0 4
0 it AU 0 0 0 0 0 0 0 0
[EVE R 0 0 0 3 19 30 14 66
sEEhfca AL 0 0 3 24 62 86 20 195
90 77 AR 0 2 5 14 25 31 8 85
RUE SRR 0 0 0 1 7 8 5 21
RIHERRE IS 0 0 1 2 3 4 0 10
Zaet (N) 0 18 79 187 365 402 111 1162
<ZME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ KET

e VAP 1 0 9 6 3 1 0 20
B IR 22 (L, 0 0 7 15 58 61 19 160
U IR 0 0 3 5 11 18 4 41
HE iR 0 0 0 0 1 0 0 1
B8P il Ul 0 0 0 2 4 2 1 9
Hp S5 it AU 0 0 0 0 0 0 0 0
i it AU 0 0 0 0 0 0 0 0
R 0 0 0 0 4 8 3 15
AR Kb 0 0 0 1 14 26 14 55
90 AT AR 0 0 3 4 14 19 3 43
B SRR 0 0 0 0 4 8 5 17
RIHERR IS 0 0 0 1 2 1 0 4
ZaE (N) 1 0 22 34 115 144 49 365




@ Mgz (a0 AuEET)
<JTER CT FA I E R R >

<FME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ %S %f
A 2 1 3 2 2 0 0 10 5.6
B1 1 16 24 30 26 6 0 103 | 57.5
B2 0 3 9 16 16 1 0 45| 25.1
C 0 2 3 4 6 3 1 19 10.6
D 0 0 1 0 1 0 2 1.1
E 0 0 0 0 0 0 0 0 0.0
Zia e (N) 3 22 39 53 50 11 1 179 | 100.0
AT RAE (N 1 21 36 51 48 11 1 169 | 94.4
AP RAHR (%) 33.3] 95.5| 92.3| 96.2| 96.0| 100.0| 100.0| 94.4
<IZME>
A= 2
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ 63 %j
A 2 0 2 3 1 0 0 8 8.2
B1 0 2 13 10 16 7 0 48| 49.5
B2 0 0 7 7 9 7 1 31| 32.0
C 0 0 4 3 1 0 9 9.3
D 0 0 0 0 1 0 1 1.0
E 0 0 0 0 0 0 0 0 0.0
ZitEE (N) 2 2 26 21 29 16 1 97 | 100.0
AT RAEE (N 0 2 24 18 28 16 1 89| 91.8
AT RAEH (%) 0.0 100.0| 97.3| 85.7| 96.6| 100.0| 100.0| 91.8




<M CT AR R — B>

< B>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ Gt
P 2 1 3 2 2 0 0 10
B IH P21 1 11 24 38 27 6 0 107
U IR B 0 4 7 8 7 2 1 29
iR 0 0 0 0 1 1 0 2
188 it U 0 5 11 16 20 3 0 55
Hh 2 i Ul 0 0 0 0 1 0 0 1
0 it AU 0 0 0 0 0 0 0 0
[HEe2: f 0 0 1 3 3 1 0 8
sEEhfca AL 0 0 3 13 21 5 0 42
90 77 AR 0 0 4 6 4 1 0 15
RUE SRR 0 0 0 0 2 0 1 3
RIHERRE IS 0 2 1 2 0 1 1 7
Zaet (N) 3 23 54 88 88 20 3 279
<ZME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ KET
e VAP 2 0 2 3 1 0 0 8
B IR 22 (L, 0 1 17 12 26 15 1 72
U IR 0 0 7 5 5 3 1 21
HE iR 0 0 0 1 0 0 0 1
B8P il Ul 0 0 0 0 0 0 0 0
Hp S5 it AU 0 0 0 0 0 0 0 0
i it AU 0 0 0 0 0 0 0 0
R 0 0 1 0 0 2 0 3
AR Kb 0 0 0 1 4 3 0 8
RS NG 0 0 4 4 5 4 0 17
B SRR 0 0 1 0 2 3 0 6
RIHERR IS 0 0 0 0 0 0 0 0
ZaE (N) 2 1 32 26 43 30 2 136




@ EERORE EERRRATE RN T2 (]
<JTER CT FA I E R R >

<FME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ EE';; if/f
A 0 0 3 1 2 0 0 6 4.4
B1 0 12 24 25 21 3 0 85| 63.0
B2 0 1 4 13 4 0 0 30| 22.2
C 0 2 3 3 0 1 0 13 9.6
D 0 0 0 1 0 0 0 1 0.7
E 0 0 0 0 0 0 0 0 0.0
Zia e (N) 0 15 34 43 39 4 0 135 | 100.0
AT RAE (N 0 15 31 42 37 4 0 129| 95.6
AP RAHR (%) 0.0| 100.0| 91.2| 97.7| 94.9| 100.0 0.0| 95.6
<IZME>
A= 2
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ E”}f) ng(f/j)*
A 0 0 1 0 1 0 0 2 6.1
B1 0 1 6 4 3 2 0 16| 48.5
B2 0 0 3 3 2 2 0 10| 30.3
C 0 0 3 1 1 0 0 5| 15.2
D 0 0 0 0 0 0 0 0 0.0
E 0 0 0 0 0 0 0 0 0.0
ZiEE (N) 0 1 13 8 7 4 0 33| 100.0
AT RAEE (N 0 1 12 8 6 4 0 31| 93.9
AT RAEH (%) 0.0 100.0| 92.3| 100.0| 85.7| 100.0 0.0 93.9




<M CT AR R — B>

< B>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ Gt
P 0 0 3 1 2 0 0 6
IG|SLEZ N | 0 9 20 31 22 3 0 85
U IR B 0 3 5 5 5 0 0 18
iR 0 0 0 0 0 0 0 0
188 it U 0 4 10 11 14 0 0 39
Hh 2 i Ul 0 0 0 0 1 0 0 1
0 it AU 0 0 0 0 0 0 0 0
[HEe2: f 0 0 1 3 2 0 0 6
sEEhfca AL 0 0 3 12 15 2 0 32
90 77 AR 0 0 2 5 2 0 0 9
RUE SRR 0 0 0 0 1 0 0 1
RIHERRE IS 0 1 1 2 0 1 0 5
Zaet (N) 0 17 45 70 64 6 0 202
<ZME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ KaEt
e VAP 0 0 1 0 1 0 0 2
BRIHMEZA L 0 1 9 6 5 3 0 24
U IR 0 0 3 3 1 0 0 7
HE iR 0 0 0 0 0 0 0 0
B8P il Ul 0 0 0 0 0 0 0 0
Hp S5 it AU 0 0 0 0 0 0 0 0
i it AU 0 0 0 0 0 0 0 0
R 0 0 1 0 0 1 0 2
AR Kb 0 0 0 0 1 0 0 1
RS NG 0 0 3 2 2 2 0 9
B SRR 0 0 1 0 0 1 0 2
RIHERR IS 0 0 0 0 0 0 0 0
ZaE (N) 0 1 18 11 10 7 0 47




